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oH DO BOD SS KEEHK
(mg/) (mg/) (mg/l) | (MPN/100ml)
EHE(75%1E) - 10 1.6(2.1) 7 20000
48] 77 11 1.4 4 5000
6A| 78 10 2.6 24 80000
8Bl 79 9.0 0.8 7 11000
108 77 9.4 1.3 7 13000
128] 78 11 1.6 1 11000
28] 76 12 2.1 <1 2800
BFEER
NI INED S £ N0 L it*x fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEA(E] 0.01LLF | E#EHE | 001LLF | 0.05LLF [0.01ELF [ 0.0005ELF
E{E]  <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <o0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108 <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2R - - - - - - -
>oank ... |1.2->Z00[1,1->saa|>X-1,2->50a(1,1,1-r)50
PCB 2y ekl IAY IFLY OTFLY OT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
BEAEE] ERE [0.02LLF ] 0.002LLF | 0.004LLF [0.02LLF | 0.04LLF 1LF
SEHfE] <0.0005 | <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
48[ <0.0005 | <0002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
6 A| <0.0005 | <0002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
8Al - - - - - - -
108]| <0.0005 | <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
128 <0.0005 | <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-ky4 [RUo0A(Fr5400I(1,3->9an — . —sen FARAH
AAT4Y | ITFLY | FLY Joxy | FU7A| YUY LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E]0.006 L F [ 0.03LLF | 0.01LLF | 0.002LLF [0.006 L F| 0.003LLF | 0.02LLF
SEHfE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 A <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10H] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
128 <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2A - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLTF [001LLF| 10BF 0.8LLF 1DF
Eiy <0.001 <0.001 2.0 <0.1 <0.1
4H] <o0.001 <0.001 2.1 <0.1 <0.1
6A] <0.001 <0.001 1.3 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 2.1 <0.1 <0.1
12H] <0.001 <0.001 2.5 <0.1 <0.1
2R - - - - -
EDHIEE
Nonmn| TEX | 2@ @ | 2E® | soonus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 2.7 0.073 - 0.008 <0.001 <0.008
7y: 1 23 0.042 - 0.007 <0001 <0.008
6A| - 2.3 0.11 - 0.013 <0001 <0.008
sA| - 1.9 0.13 - 0.006 - -
108 - 2.7 0.076 - 0.009 <0001 <0.008
128 - 3.6 0.048 - 0.007 <0001 <0.008
28] - 3.2 0.034 - 0.006 - -
BiLH WIHERE | OB ; = i S
IT/=| kS cobD el > AE EXizER
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) () (4 S/cm)
EHE]  <0.02 43 3.0 0.01 - - 180
4H| <0.02 31 2.6 0.01 - - 180
68| <0.02 51 3.6 0.01 - - 180
8H - - 3.7 - - - 110
10H]| <0.02 46 3.3 0.01 - - 160
12H] <0.02 44 2.6 0.02 - - 220
24 - - 2.4 - - - 230




